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UNIVERSITY OF NORTH BENGAL
B.Sc. General Part-II Examination, 2020

Z,00LOGY
PAPER-V (New Syllabus)
ANIMAL PHYSIOLOGY, MOLECULAR BIOLOGY, BIOTECHNOLOGY, BIOSTATISTICS

Time Allotted: 1 Hour Full Marks: 25

The figures in the margin indicate full marks.

I. Answer any five questions: Ix5=5
-1 #A5fo et Ted wies
Gl U TP IR AT

(a) Write the names of two restriction endonucleases.

1t @EFA Grelf~elHEe-aa w7
gsacl restriction endonucleases ®I AT olREJBIN |
(b) Define Vital capacity and Tidal volume.
Vital capacity '@ Tidal volume-&< el W€ |
Vital capacity 31 Tidal volume &T URHTNT ole]a 1 |
(c) What is acetylcholine (ACh)? State its function.
SifRGrEe @ifere & 9 @3 Fie [Kige 41
Acetylcholine (ACh) & & ? J®BT M & &l ?
(d) What is a plasmid?
PTG 5 9
Plasmid & & ?
(e) State “all-or none law” of nerve impulse.
Y Tl (FCq 7 S=™t YL 3@ (all-or none law) e F41
Nerve impulse-®I “all-or none law” IEI8 |
(f) Define Sample.
Sample-9< FRe: Wi |
Sample-T TRHMNT o] |
(g) State the role of Pribnow box.
Pribnow box-«3 gl Kqe 31
Pribnow box-@T AT & &I ?
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(h) Name the enzymes involved DNA replication in Prokaryotes.
(@FIREEE DNA @feicF*6-99 TerEhaeferd wi @741

Prokaryotes-AT DNA replication FHIMIT enzymes &I AT ole]a 9 |

2. Answer any two questions:
- 7f5 @i Ted nies
F1 gaCl AP IR REABRNT:
(a) Differentiate between B and Z DNA model with suitable diagram.
Toiye a1z B DNA @R Z DNA S%e 9503 2M1<fa] 41

SUYh foEdfzd B 31 Z DNA HTsié! Ui oRedei |
(b) Elaborate the role of Rh factor in blood transfusion.
Blood transfusion-<€3 (%¥¢q Rh factor-43 ol HItn (=74

h AR Rh factor-®1 YfHHTEN &8N |
(c) Write short notes on ‘chloride shift’ and ‘Bohr effect’.
‘FRIZT RRE ¢ ‘@R G T KA DIl 19
‘Chloride shift’ 3= Bohr effect AT BT Tl olRegBN |
(d) Elaborate the role of recombinant DNA technology in the field of medicine.

ofew e el DNA ayfes gl f[#im @1
STeiRTRId &FAT recombinant DNA technology &7 ‘iﬁ'cﬁ]’slﬁ ﬁ@ﬁ I

(e) Describe the Cloverleaf model of tRNA structure with a suitable illustration.
oY e tRNA-IF @FIoR foree SCea o19e 904t 791
SUgTh EAed tRNA Tesd! Cloverleaf model fdaRor fRgeH |

(f) What are the common measures of Central tendency?
(I eReTer Ay Al & & o
Central tendency-®1 HTERY AMUEH & & A ?

3. Answer any one question:
AP GF6 At Teq mies

aﬁ Y dcl URdh] 37X clte]eINg:

(a) Describe the experiment verifying the semi-conservative nature of DNA
replication in a prokaryotic cell with a diagram.

fog W@ @iRets @@ DNA @REH-93 EfwTekceie oFfed
2R @S5 #3091

TICT prokaryotic @ITRIHT DNA replication @I semi-conservative model
TS YATT T URIETOThT |ieE SaTervNled f[aavvr G |

2138 2

5x2=10

10x1 =10

10



B.Sc./Part-11/Gen./(1+1+1) System/ZOOG-V/New/2020

(b) Define a histogram with proper diagram. Following are the data of daily blood 2+2+4+2=10

(c)

(d)

2138

pressure of a patient over a period of 100 days.

Torge foa el RResiam ga kel nie | fEfiie Soiesf (data) aFee @R
so0 e 4(7 TSI AAfI43

Ugel fauRIer 100 feadr smafdr feafiesT A1fUTaT hamuel ded ad
ﬁ?@‘&:

BP (Blood Pressure) / €619 / @M | No. of days / e k25t / o=t
(mm Hg)
102 3
106 9
110 25
114 35
118 17
122 10
126 1

Compute mean, standard deviation and standard error from the above data.
TS TewfTd QT mean, standard deviation €<% standard error 6 411
qTfrpT  TeUATE  mean, standard deviation 319 standard error ®I  HF

TN |

Elaborate the process of transcription initiation in prokaryotes with proper
illustration. Explain the rho-dependent and rho-independent modes of
termination of prokaryotic transcription.

Toge foa eaicsl @imifaebs &ica FETieerE a7 pal cmte e @19
@renfaee e «a IfRE rho-dependent @k rho-independent A&f®
AT A1

SWh Jare’vrdied  prokaryotes I transcription initiation-@1 UFHIER
oReJ8NT | Prokaryotic transcription-@! rho-dependent 31 rho-independent
termination-gR gSITGR oREIBI |

Explain the mechanism of blood coagulation pathways with proper illustration.
Name two anticoagulants.

Toige fbd FECANH TSI Aaioi It 591 4o SHIFGRRISETS 9 | @7

IFT ISRUNT GA SF Ugfigedl  f[daRe g | gsacT
anticoagulants—e! AT e84 |

4+3+3 =10

8+2 =10



